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, . _ s : cunts for 67p and acup
1. (a) Roger buys a sandwich which costs £1.89, a packet of b'S

cf cotlee for 85p.

How much does Rcger Spend.a!togethgr? o

. ANSWEI L .oeciens . ‘... (2}

-{b) Sunita wants to buy a T-shirt costmg £15
So far she has saved £11.55
~ How much more must she sava to be able to buy the T—sh1rt'7

Answer: £ ......... SRS, @

(c) MrThomas buys 6 calculators which cost £9.85 each.
‘How much does he pay altogether?

ANSWEII R ool (Ei
(d) 15 iced buns cost £4.05 -
What is the cost in pence of one iced bun?
Answer: T - 1 & .-
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2. (a) Write 2 as a decimal.

(b) Write 0.08 as a fraction in its simplest form.

(2)
(c) Calculate 45% of £5
Answer: £ ........ e e (2)
(d) Write £1.80 asa percentage of £2.50
T ANSWETL: ceviarrsiranseniansns s cvrrenansnibiA RS % (2)
3 Turn over.
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| ‘ e long.
3. (a) Ann buys a roll of kitchen foil which is s.megres hgr ol
Each day she uses 40 centimetres of foil to wrap‘ SR

For how mary days does the roll of foil last?

chres.

Answer: .......... days (2)
(b) Abag contains 125 grams of mint creams.
‘Sam sells 50 of these bags at a féte. r o S
How many kilograms of mint creams does Sam sell at the féte? Q0
ANSWEE wosgpuessnsions e
4. (a) Calculate
18—12+2x4
) -0
ANSWET: oot (1
(i) 18 = 12 + 2 + 4
Answer: ... @
| (b) Calculate V16 + 23
ANSWEN: ..o (2)
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~ {c) (i} Write both 24 and 60 as a product of prime factors.

Atmmert B = s i T 1+ LR - " (3)

(i) Write down the smallest number that can be di\)idéd exactly by 24 and 60

'Ans_wer:' ...... S ooy adsg (1)

5. Pedra’s relish contains m‘ass:es of red and green chillies in the ratio 4 : 3

() There are 72 grams of greeh chillies in a jar of Pedro’s relish. —
What is the mass of red chillies in the jar? ' : PEDRO’S
R
-

ANSWET ssysonpmmsesenss [T g. (2)

(ii) Alarge tub of Pedro’s relish contains 8.4 kilograms of chillies altogefher.
What is the mass of the green chillies in the tub? '

. SA.2838326 e B
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6. Simplify -

() 4x° + 3° ~ x°

(i) 4x° x 3x* .

(iif) (2&2)4

S.A. 2838326
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7. (a) Giventhat p=6 and g= -3 findihe value of
o =29
6

Answer: ... eesssnessratmensarrevissses (2)
(i) 1pq

Answer: ... RSP YO (1)
(iii) 2p — ¢°

ANSWEL: 1voverisserraeseseessnsrssssssnesss (2)
. p+q
iv) ——
() gy

ANSWET: eceverarerressssossssnmrensiissone (2)

b) f n= Jg find the value of nwhen A = 576

ANSWEE: 1T 1neseesrassmissnssenssiasss @

__ S.A. 2838326 - “Turn over







A Iarge block of fudge is in the shape of a cuboid measurmg 3 centametres by

4 centimetres by 3 centimetres.

(iy Make a drawing of the cuboid on the centim_etre isometric paper below:
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(i} Caléulaté the volume of the block of fudge.

These blocks are packed in boxes

(m) How many blocks f1|l a box comp!etely‘?
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which measure 18 cm by 16 cm by 6 cm.

Answer:

not to scale
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P
.

o
0

Swiss G0
francs

(i)

What is this price in pounds?
‘Where are the chocolates more 'expensive? (Remember to show working.)

(i) A cuckoo clock is priced at 90 francs.
(i) An identical box of chocolates costs £11 in England and 32 francs inlv Switzerland.

Use the graph to answer the following questions, showing cléarly where you take your

readings.
(i) Whatis the fate of éxchange? (i.e. how many Swiss francs_would you receive for £17?)

The graph abdve converts pounds'(E) fo Swiss francs (fr).
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On the gﬂd aboVe

(i) draw and label the ine y=-1

(ii) reﬂect triangle Ain y = -1 and Iabei the lmage B
A 90° antaclockwnse about (-2, 0} and label the image G

(iiiy rotate triangle

(iv) translate triangle A 5 units left followe

~ S.A. 2838326
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d by 3 units down and !abel the mase D.
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)
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12. XABCD isa square -pased pyramid. X "~ notto

AB = BC = CD = DA = 6 centimetres - Sy
XA= X8 = XC= XD = 5 centimetres
{i) Draw an accurate net of the pyramid below.
- (ABCD has been drawn for you.)
O
o p
A
A M 5
) -

S.A. 2338326 5
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(,,) In triangle XAB, M is the mid- point of AB.
Calculate the length of MX, showmg alt your workmg

ANSWET: ovvecres R A wcm (3)

(i) Calculate the area of the net,

Y o U cm®  (3)

13. (a) Aferry leaves Weymouth at22 45 and amves in the Channel lslands at 03 20 next day
- How long does the voyage last?

Answer: ....... eremeeareaes N s min  (2)
(b) George runs 400 metres in 50 seconds at a steady péce. 7 | i‘?
What is his average speed in kilometres per hour? AR | ﬁ

L ANSWER Lt e kmh (3)
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{) Draw pattem 4 below:
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(1)

() Complete the table below:

(3)

g
__
o
3
x »
B ol
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p 1
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(i) How many unshaded squares are there in patterm 207

ANSWETD oeivicssncacars

teratesrtiar RIS ARANPIS IS TCEND (i;

{r} How many shaded squares are there in the nth pattern?

CANSWEL veviisveniesasossaressennsensscosacsmesrarasenses (1)

(v} A pattern has 144 unshaded squares.

' How many shaded squares are there in the pattern?

o BOBNGTE s cissisestlens nibons sindie i grammarsomeresis 2

{wiy Vhatisthe number of the first pattern ta have a total of more than 1000,s_quares?-



